Nicolaus Copernicus University Campus is well connected with the rest of the city. The easiest way to get to the
Campus is tram. Choose tram 1 or 4 (direction UNIWERSYTET). There are several stops along the Campus. If you stay
in Dom Studencki 10 (DS 10) the nearest bus stop is "Akademiki". To get to the Faculty of Biological and Veterinary
Sciences you can leave at "Okrezna" or "Uniwersytet". We put detailed connections below:

1) from Torun main train station (Dworzec Gtéwny):
- bus 131 (direction ROZGARTY - STARA SZKOtA) to bus stop "Akademiki" or "Okrezna".
- bus 11 (direction KONIUCHY) to bus stop "Od Nowa" - 10 min walk to DS 10 or 15 min walk to the Faculty of
Biological and Veterinary Sciences. You can also change there to the tram 1 or 4.
- buses 12/13/14/22/27 to bus stop "Waty Gen. Sikorskiego” and change to tram 1 or 4.
2) from Torun city station (Dworzec Miasto): tram 1 or 4 (direction UNIWERSYTET)
3) from Torun bus station (Dworzec Autobusowy): tram 4 from tram stop "Uniwersytecka PKS"

4) from Old Town (Aleja Solidarnosci): tram 1 or 4
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